



# On inequalities of Hermite-Hadamard type for co-ordinated $(\alpha_1, m_1)$ - $(\alpha_2, m_2)$ -convex functions

Shu-Ping Bai<sup>1</sup>, Jian Sun<sup>1</sup>, Feng Qi<sup>2,3,\*</sup>

<sup>1</sup>College of Mathematics, Inner Mongolia University for Nationalities, Tongliao City, Inner Mongolia Autonomous Region, 028043, China

<sup>2</sup>Department of Mathematics, College of Science, Tianjin Polytechnic University, Tianjin City, 300387, China

<sup>3</sup>Institute of Mathematics, Henan Polytechnic University, Jiaozuo City, Henan Province, 454010, China

\*Corresponding author e-mail: qifeng618@gmail.com

Copyright ©2015 Shu-Ping Bai, Jiang Sun, Feng Qi. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

## Abstract

In the paper, the authors establish some integral inequalities of Hermite-Hadamard type for co-ordinated  $(\alpha_1, m_1)$ - $(\alpha_2, m_2)$ -convex functions on a rectangle of the first quadrant in a plane.

**Keywords:**  $(\alpha_1, m_1)$ - $(\alpha_2, m_2)$ -convex function; co-ordinates; rectangle of the plane; Hermite-Hadamard type inequality

## 1. Introduction

The following definitions are known in the literature.

**Definition 1.1.** A function  $f : I \subseteq \mathbb{R} = (-\infty, \infty) \rightarrow \mathbb{R}$  is said to be convex if  $f(\lambda x + (1 - \lambda)y) \leq \lambda f(x) + (1 - \lambda)f(y)$  holds for all  $x, y \in I$  and  $\lambda \in [0, 1]$ .

**Definition 1.2** ([7]). For  $f : [0, b] \rightarrow \mathbb{R}$  and  $m \in (0, 1]$ , if  $f(\lambda x + m(1 - \lambda)y) \leq \lambda f(x) + m(1 - \lambda)f(y)$  is valid for all  $x, y \in [0, b]$  and  $\lambda \in [0, 1]$ , then we say that  $f(x)$  is an  $m$ -convex function on  $[0, b]$ .

**Definition 1.3** ([6]). For  $f : [0, b] \rightarrow \mathbb{R}$  and  $(\alpha, m) \in (0, 1] \times (0, 1]$ , if  $f(\lambda x + m(1 - \lambda)y) \leq \lambda^\alpha f(x) + m(1 - \lambda^\alpha)f(y)$  is valid for all  $x, y \in [0, b]$  and  $\lambda \in [0, 1]$ , then we say that  $f(x)$  is an  $(\alpha, m)$ -convex function on  $[0, b]$ .

**Definition 1.4** ([3, 4]). A function  $f : \Delta = [a, b] \times [c, d] \subseteq \mathbb{R}^2 \rightarrow \mathbb{R}$  is said to be convex on the co-ordinates on  $\Delta$  if the partial mappings  $f_y : u \in [a, b] \rightarrow f(u, y) \in \mathbb{R}$  and  $f_x : v \in [c, d] \rightarrow f(x, v) \in \mathbb{R}$  are convex for all  $x \in (a, b)$  and  $y \in (c, d)$ .

**Definition 1.5.** [3, 4] A function  $f : \Delta = [a, b] \times [c, d] \subseteq \mathbb{R}^2 \rightarrow \mathbb{R}$  is said to be convex on the co-ordinates on  $\Delta$  if

$$f(tx + (1 - t)z, \lambda y + (1 - \lambda)w) \leq t\lambda f(x, y) + t(1 - \lambda)f(x, w) + (1 - t)\lambda f(z, y) + (1 - t)(1 - \lambda)f(z, w)$$

holds for all  $t, \lambda \in [0, 1]$  and  $(x, y), (z, w) \in \Delta$ .

We now recall some inequalities of Hermite-Hadamard type.

**Theorem 1.1** ([5]). Let  $f : \mathbb{R}_0 = [0, \infty) \rightarrow \mathbb{R}$  be  $m$ -convex and  $m \in (0, 1]$ . If  $f \in L_1([a, b])$  for  $0 \leq a < b < \infty$ , then

$$\frac{1}{b-a} \int_a^b f(x) dx \leq \min \left\{ \frac{f(a) + mf(b/m)}{2}, \frac{mf(a/m) + f(b)}{2} \right\}.$$

**Theorem 1.2** ([3, Theorem 2.2]). Let  $f : \Delta = [a, b] \times [c, d] \subseteq \mathbb{R}^2$  be convex on the co-ordinates on  $\Delta$ . Then we have

$$\begin{aligned} f\left(\frac{a+b}{2}, \frac{c+d}{2}\right) &\leq \frac{1}{2} \left[ \frac{1}{b-a} \int_a^b f\left(x, \frac{c+d}{2}\right) dx + \frac{1}{d-c} \int_c^d f\left(\frac{a+b}{2}, y\right) dy \right] \\ &\leq \frac{1}{(b-a)(d-c)} \int_a^b \int_c^d f(x, y) dy dx \\ &\leq \frac{1}{4} \left[ \frac{1}{b-a} \int_a^b [f(x, c) + f(x, d)] dx + \frac{1}{d-c} \int_c^d [f(a, y) + f(b, y)] dy \right] \\ &\leq \frac{1}{4} [f(a, c) + f(b, c) + f(a, d) + f(b, d)]. \end{aligned}$$

In [1, 2], the authors introduced the following co-ordinated  $(\alpha_1, m_1)$ - $(\alpha_2, m_2)$ -convex functions.

**Definition 1.6** ([1, 2]). For  $m_1, m_2, \alpha_1, \alpha_2 \in (0, 1]$ , a function  $f : [0, b] \times [0, d] \rightarrow \mathbb{R}$  is said to be co-ordinated  $(\alpha_1, m_1)$ - $(\alpha_2, m_2)$ -convex if

$$\begin{aligned} f(tx + m_1(1-t)z, \lambda y + m_2(1-\lambda)w) \\ \leq t^{\alpha_1} \lambda^{\alpha_2} f(x, y) + m_1(1-t^{\alpha_1}) \lambda^{\alpha_2} f(z, y) + m_2 t^{\alpha_1} (1-\lambda^{\alpha_2}) f(x, w) + m_1 m_2 (1-t^{\alpha_1})(1-\lambda^{\alpha_2}) f(z, w) \end{aligned} \quad (1.1)$$

holds for all  $(t, \lambda) \in [0, 1] \times (0, 1)$  and  $(x, y), (z, w) \in [0, b] \times [0, d]$ .

For more information on Hermite-Hadamard type inequalities for various kinds of convex functions, please refer to the monograph [4], recently published papers [1, 2, 8, 9], and closely related references therein.

In this paper, we will establish some integral inequalities of Hermite-Hadamard type for co-ordinated  $(\alpha_1, m_1)$ - $(\alpha_2, m_2)$ -convex functions.

## 2. Integral inequalities of Hermite-Hadamard type

**Theorem 2.1.** Let  $f : \left[0, \frac{b}{m_1}\right] \times \left[0, \frac{d}{m_2}\right] \rightarrow \mathbb{R}$  be an integrable function with  $0 \leq a < b$  and  $0 \leq c < d$  for some fixed  $m_1, m_2 \in (0, 1]$ . If  $f$  is co-ordinated  $(\alpha_1, m_1)$ - $(\alpha_2, m_2)$ -convex on  $\left[0, \frac{b}{m_1}\right] \times \left[0, \frac{d}{m_2}\right]$  for  $\alpha_1, \alpha_2 \in (0, 1]$ , then

$$\begin{aligned} f\left(\frac{a+b}{2}, \frac{c+d}{2}\right) &\leq \frac{1}{2^{\alpha_1+\alpha_2+1}} \left[ \frac{1}{b-a} \int_a^b G\left(x, \frac{c+d}{2}\right) dx + \frac{1}{d-c} \int_c^d G\left(\frac{a+b}{2}, y\right) dy \right] \\ &\leq \frac{1}{2^{2(\alpha_1+\alpha_2)}(b-a)(d-c)} \int_c^d \int_a^b \left[ G(x, y) + m_1(2^{\alpha_1}-1)G\left(\frac{x}{m_1}, y\right) \right. \\ &\quad \left. + m_2(2^{\alpha_2}-1)G\left(x, \frac{y}{m_2}\right) + m_1 m_2 (2^{\alpha_1}-1)(2^{\alpha_2}-1)G\left(\frac{x}{m_1}, \frac{y}{m_2}\right) \right] dx dy, \end{aligned} \quad (2.1)$$

where

$$G(u, v) = f(u, v) + m_1(2^{\alpha_1}-1)f\left(\frac{u}{m_1}, v\right) + m_2(2^{\alpha_2}-1)f\left(u, \frac{v}{m_2}\right) + m_1 m_2 (2^{\alpha_1}-1)(2^{\alpha_2}-1)f\left(\frac{u}{m_1}, \frac{v}{m_2}\right)$$

for  $(u, v) \in \left[a, \frac{b}{m_1}\right] \times \left[c, \frac{d}{m_2}\right]$ .

*Proof.* Using the  $(\alpha_1, m_1)$ - $(\alpha_2, m_2)$ -convexity of  $f$  with  $t = \lambda = \frac{1}{2}$  in (1.1), we have

$$\begin{aligned} f\left(\frac{a+b}{2}, \frac{c+d}{2}\right) &= \int_0^1 f\left(\frac{ta + (1-t)b + (1-t)a + tb}{2}, \frac{c+d}{2}\right) dt \\ &\leq \int_0^1 \left[ \frac{1}{2^{\alpha_1+\alpha_2}} f\left(ta + (1-t)b, \frac{c+d}{2}\right) + m_1 \left(1 - \frac{1}{2^{\alpha_1}}\right) \frac{1}{2^{\alpha_2}} f\left(\frac{(1-t)a + tb}{m_1}, \frac{c+d}{2}\right) + m_2 \frac{1}{2^{\alpha_1}} \left(1 - \frac{1}{2^{\alpha_2}}\right) \right. \\ &\quad \left. \times f\left(ta + (1-t)b, \frac{c+d}{2m_2}\right) + m_1 m_2 \left(1 - \frac{1}{2^{\alpha_1}}\right) \left(1 - \frac{1}{2^{\alpha_2}}\right) f\left(\frac{(1-t)a + tb}{m_1}, \frac{c+d}{2m_2}\right) \right] dt \\ &= \frac{1}{2^{\alpha_1+\alpha_2}(b-a)} \int_a^b \left\{ f\left(x, \frac{c+d}{2}\right) + m_1(2^{\alpha_1}-1)f\left(\frac{x}{m_1}, \frac{c+d}{2}\right) \right. \end{aligned}$$

$$\begin{aligned} &+ m_2(2^{\alpha_2} - 1)f\left(x, \frac{c+d}{2m_2}\right) + m_1m_2(2^{\alpha_1} - 1)(2^{\alpha_2} - 1)f\left(\frac{x}{m_1}, \frac{c+d}{2m_2}\right)\} dx \\ &= \frac{1}{2^{\alpha_1+\alpha_2}(b-a)} \int_a^b G\left(x, \frac{c+d}{2}\right) dx. \end{aligned}$$

Taking  $y = \lambda c + (1 - \lambda)d$  for  $0 \leq \lambda \leq 1$  and using the  $(\alpha_1, m_1)$ - $(\alpha_1, m_2)$ -convexity of  $f$  with  $t = \lambda = \frac{1}{2}$  in (1.1) give

$$\begin{aligned} f\left(x, \frac{c+d}{2}\right) &= \int_0^1 f\left(x, \frac{\lambda c + (1-\lambda)d + (1-\lambda)c + \lambda d}{2}\right) d\lambda \\ &\leq \frac{1}{2^{\alpha_1+\alpha_2}} \int_0^1 \left\{ f(x, \lambda c + (1-\lambda)d) + m_1(2^{\alpha_1} - 1)f\left(\frac{x}{m_1}, (1-\lambda)c + \lambda d\right) \right. \\ &\quad \left. + m_2(2^{\alpha_2} - 1)f\left(x, \frac{\lambda c + (1-\lambda)d}{m_2}\right) + m_1m_2(2^{\alpha_1} - 1)(2^{\alpha_2} - 1)f\left(\frac{x}{m_1}, \frac{(1-\lambda)c + \lambda d}{m_2}\right) \right\} d\lambda \\ &= \frac{1}{2^{\alpha_1+\alpha_2}(d-c)} \int_c^d G(x, y) dy \end{aligned}$$

for  $x \in [a, b]$ . A direct calculation gives

$$f\left(\frac{x}{m_1}, \frac{c+d}{2}\right) \leq \frac{1}{2^{\alpha_1+\alpha_2}(d-c)} \int_c^d G\left(\frac{x}{m_1}, y\right) dy, \quad f\left(x, \frac{c+d}{2m_2}\right) \leq \frac{1}{2^{\alpha_1+\alpha_2}(d-c)} \int_c^d G\left(x, \frac{y}{m_2}\right) dy,$$

and

$$f\left(\frac{x}{m_1}, \frac{c+d}{2m_2}\right) \leq \frac{1}{2^{\alpha_1+\alpha_2}(d-c)} \int_c^d G\left(\frac{x}{m_1}, \frac{y}{m_2}\right) dy.$$

Combining the above inequalities arrives at

$$\begin{aligned} f\left(\frac{a+b}{2}, \frac{c+d}{2}\right) &\leq \frac{1}{2^{\alpha_1+\alpha_2}(b-a)} \int_a^b G\left(x, \frac{c+d}{2}\right) dx \\ &\leq \frac{1}{2^{2(\alpha_1+\alpha_2)}(b-a)(d-c)} \int_c^d \int_a^b \left[ G(x, y) + m_1(2^{\alpha_1} - 1)G\left(\frac{x}{m_1}, y\right) \right. \\ &\quad \left. + m_2(2^{\alpha_2} - 1)G\left(x, \frac{y}{m_2}\right) + m_1m_2(2^{\alpha_1} - 1)(2^{\alpha_2} - 1)G\left(\frac{x}{m_1}, \frac{y}{m_2}\right) \right] dx dy. \end{aligned}$$

Similarly, we have

$$\begin{aligned} f\left(\frac{a+b}{2}, \frac{c+d}{2}\right) &\leq \frac{1}{2^{\alpha_1+\alpha_2}(d-c)} \int_c^d G\left(\frac{a+b}{2}, y\right) dy \\ &\leq \frac{1}{2^{2(\alpha_1+\alpha_2)}(b-a)(d-c)} \int_a^b \int_c^d \left[ G(x, y) + m_1(2^{\alpha_1} - 1)G\left(\frac{x}{m_1}, y\right) \right. \\ &\quad \left. + m_2(2^{\alpha_2} - 1)G\left(x, \frac{y}{m_2}\right) + m_1m_2(2^{\alpha_1} - 1)(2^{\alpha_2} - 1)G\left(\frac{x}{m_1}, \frac{y}{m_2}\right) \right] dx dy. \end{aligned}$$

Utilizing the last two inequalities leads to the inequality (2.1). The proof of Theorem 2.1 is complete. □

**Corollary 2.1.1.** *Under the conditions of Theorem 2.1,*

1. *if  $\alpha_1 = \alpha_2 = \alpha$  and  $m_1 = m_2 = m$ , then*

$$\begin{aligned} f\left(\frac{a+b}{2}, \frac{c+d}{2}\right) &\leq \frac{1}{2^{2\alpha+1}} \left[ \frac{1}{b-a} \int_a^b G\left(x, \frac{c+d}{2}\right) dx + \frac{1}{d-c} \int_c^d G\left(\frac{a+b}{2}, y\right) dy \right] \\ &\leq \frac{1}{16^\alpha(b-a)(d-c)} \int_c^d \int_a^b \left[ G(x, y) + m(2^\alpha - 1)G\left(\frac{x}{m}, y\right) + m(2^\alpha - 1)G\left(x, \frac{y}{m}\right) + m^2(2^\alpha - 1)^2G\left(\frac{x}{m}, \frac{y}{m}\right) \right] dx dy; \end{aligned}$$

2. *if  $\alpha_1 = \alpha_2 = 1$  and  $m_1 = m_2 = m$ , then*

$$\begin{aligned} f\left(\frac{a+b}{2}, \frac{c+d}{2}\right) &\leq \frac{1}{8} \left[ \frac{1}{b-a} \int_a^b G\left(x, \frac{c+d}{2}\right) dx + \frac{1}{d-c} \int_c^d G\left(\frac{a+b}{2}, y\right) dy \right] \\ &\leq \frac{1}{16(b-a)(d-c)} \int_c^d \int_a^b \left[ G(x, y) + mG\left(\frac{x}{m}, y\right) + mG\left(x, \frac{y}{m}\right) + m^2G\left(\frac{x}{m}, \frac{y}{m}\right) \right] dx dy. \end{aligned}$$

**Theorem 2.2.** Let  $f : \left[0, \frac{b}{m_1}\right] \times \left[0, \frac{d}{m_2}\right] \rightarrow \mathbb{R}$  be an integrable function with  $0 \leq a < b$  and  $0 \leq c < d$  for some fixed  $m_1, m_2 \in (0, 1]$ . If  $f$  is co-ordinated  $(\alpha_1, m_1)$ - $(\alpha_2, m_2)$ -convex on  $\left[0, \frac{b}{m_1}\right] \times \left[0, \frac{d}{m_2}\right]$  for some fixed  $\alpha_1, \alpha_2 \in (0, 1]$ , then

$$\begin{aligned} \frac{1}{(b-a)(d-c)} \int_c^d \int_a^b f(x, y) \, dx \, dy &\leq \frac{1}{2^{\alpha_1+1}(\alpha_2+1)(b-a)} \int_a^b M(x, c, d) \, dx + \frac{1}{2^{\alpha_2+1}(\alpha_1+1)(d-c)} \int_c^d N(a, b, y) \, dy \\ &\leq \frac{1}{2^{\alpha_1+\alpha_2+1}(\alpha_1+1)(\alpha_2+1)} \left[ 2N(a, b, c) + m_1(2^{\alpha_1} + \alpha_1 - 1)N\left(\frac{a}{m_1}, \frac{b}{m_1}, c\right) \right. \\ &\quad \left. + m_2(2^{\alpha_2} + \alpha_2 - 1)N\left(a, b, \frac{d}{m_2}\right) + m_1m_2[\alpha_2(2^{\alpha_1} - 1) + \alpha_1(2^{\alpha_2} - 1)]N\left(\frac{a}{m_1}, \frac{b}{m_1}, \frac{d}{m_2}\right) \right], \end{aligned}$$

where

$$M(x, w, z) = f(x, w) + m_1(2^{\alpha_1} - 1)f\left(\frac{x}{m_1}, z\right) + m_2\alpha_2f\left(x, \frac{w}{m_2}\right) + m_1m_2\alpha_2(2^{\alpha_1} - 1)f\left(\frac{x}{m_1}, \frac{z}{m_2}\right)$$

and

$$N(u, v, y) = f(u, y) + m_1\alpha_1f\left(\frac{v}{m_1}, y\right) + m_2(2^{\alpha_2} - 1)f\left(u, \frac{y}{m_2}\right) + m_1m_2\alpha_1(2^{\alpha_2} - 1)f\left(\frac{v}{m_1}, \frac{y}{m_2}\right)$$

for  $x, u, v \in \left[a, \frac{b}{m_1}\right]$  and  $y, w, z \in \left[c, \frac{d}{m_2}\right]$ .

*Proof.* Setting  $y = \lambda c + (1 - \lambda)d$  for  $0 < \lambda < 1$ . From the  $(\alpha_1, m_1)$ - $(\alpha_2, m_2)$ -convexity of  $f$  with  $t = \frac{1}{2}$  and  $0 < \lambda < 1$  in (1.1), we obtain

$$\begin{aligned} \frac{1}{(b-a)(d-c)} \int_c^d \int_a^b f(x, y) \, dx \, dy &= \frac{1}{b-a} \int_0^1 \int_a^b f(x, \lambda c + (1 - \lambda)d) \, dx \, d\lambda \\ &\leq \frac{1}{2^{\alpha_1}(b-a)} \int_0^1 \int_a^b \left\{ \lambda^{\alpha_2} f(x, c) + m_1(2^{\alpha_1} - 1)\lambda^{\alpha_2} f\left(\frac{x}{m_1}, c\right) \right. \\ &\quad \left. + m_2(1 - \lambda^{\alpha_2})f\left(x, \frac{d}{m_2}\right) + m_1m_2(2^{\alpha_1} - 1)(1 - \lambda^{\alpha_2})f\left(\frac{x}{m_1}, \frac{d}{m_2}\right) \right\} \, dx \, d\lambda \\ &= \frac{1}{2^{\alpha_1}(\alpha_2+1)(b-a)} \int_a^b M(x, c, d) \, dx. \end{aligned}$$

Obviously, if letting  $x = ta + (1 - t)b$  for  $0 \leq t \leq 1$  and using the  $(\alpha_1, m_1)$ - $(\alpha_2, m_2)$ -convexity of  $f$  with  $0 \leq t \leq 1$  and  $\lambda = \frac{1}{2}$  in (1.1), it follows that

$$\begin{aligned} \frac{1}{b-a} \int_a^b f(x, c) \, dx &\leq \frac{1}{2^{\alpha_2}} \int_0^1 \left\{ t^{\alpha_1} f(a, c) + m_1(1 - t^{\alpha_1})f\left(\frac{b}{m_1}, c\right) \right. \\ &\quad \left. + m_2t^{\alpha_1}(2^{\alpha_2} - 1)f\left(a, \frac{c}{m_2}\right) + m_1m_2(1 - t^{\alpha_1})(2^{\alpha_2} - 1)f\left(\frac{b}{m_1}, \frac{c}{m_2}\right) \right\} \, dt \\ &= \frac{1}{2^{\alpha_2}(\alpha_1+1)} N(a, b, c) \end{aligned}$$

and

$$\begin{aligned} \frac{1}{b-a} \int_a^b f\left(\frac{x}{m_1}, c\right) \, dx &\leq \frac{1}{2^{\alpha_2}(\alpha_1+1)} N\left(\frac{a}{m_1}, \frac{b}{m_1}, c\right), \quad \frac{1}{b-a} \int_a^b f\left(x, \frac{d}{m_2}\right) \, dx \leq \frac{1}{2^{\alpha_2}(\alpha_1+1)} N\left(a, b, \frac{d}{m_2}\right), \\ \frac{1}{b-a} \int_a^b f\left(\frac{x}{m_1}, \frac{d}{m_2}\right) \, dx &\leq \frac{1}{2^{\alpha_2}(\alpha_1+1)} N\left(\frac{a}{m_1}, \frac{b}{m_1}, \frac{d}{m_2}\right). \end{aligned}$$

When combining the above inequalities, we find

$$\begin{aligned} \frac{1}{(b-a)(d-c)} \int_c^d \int_a^b f(x, y) \, dx \, dy &\leq \frac{1}{2^{\alpha_1}(\alpha_2+1)(b-a)} \int_a^b M(x, c, d) \, dx \\ &\leq \frac{1}{2^{\alpha_1+\alpha_2}(\alpha_1+1)(\alpha_2+1)} \left[ N(a, b, c) + m_1(2^{\alpha_1} - 1)N\left(\frac{a}{m_1}, \frac{b}{m_1}, c\right) \right. \\ &\quad \left. + m_2\alpha_2N\left(a, b, \frac{d}{m_2}\right) + m_1m_2\alpha_2(2^{\alpha_1} - 1)N\left(\frac{a}{m_1}, \frac{b}{m_1}, \frac{d}{m_2}\right) \right]. \end{aligned}$$

Similarly, we have

$$\frac{1}{(b-a)(d-c)} \int_c^d \int_a^b f(x, y) \, dx \, dy \leq \frac{1}{2^{\alpha_2}(\alpha_1+1)(d-c)} \int_c^d N(a, b, y) \, dy$$

$$\leq \frac{1}{2^{\alpha_1 + \alpha_2}(\alpha_1 + 1)(\alpha_2 + 1)} \left[ N(a, b, c) + m_1 \alpha_1 N\left(\frac{a}{m_1}, \frac{b}{m_1}, c\right) \right. \\ \left. + m_2(2^{\alpha_2} - 1)N\left(a, b, \frac{d}{m_2}\right) + m_1 m_2 \alpha_1(2^{\alpha_2} - 1)N\left(\frac{a}{m_1}, \frac{b}{m_1}, \frac{d}{m_2}\right) \right].$$

Combining the last two inequalities leads to the inequality in Theorem 2.2. The proof of Theorem 2.2 is thus complete.  $\square$

**Corollary 2.2.1.** Under the conditions of Theorem 2.2, if  $\alpha_1 = \alpha_2 = \alpha$  and  $m_1 = m_2 = m$ , then

$$\frac{1}{(b-a)(d-c)} \int_c^d \int_a^b f(x, y) \, dx \, dy \leq \frac{1}{2^{\alpha+1}(\alpha+1)} \left[ \frac{1}{b-a} \int_a^b M(x, c, d) \, dx + \frac{1}{(d-c)} \int_c^d N(a, b, y) \, dy \right] \\ \leq \frac{1}{2^{2\alpha+1}(\alpha+1)^2} \left[ 2N(a, b, c) + m(2^\alpha + \alpha - 1)N\left(\frac{a}{m}, \frac{b}{m}, c\right) \right. \\ \left. + m(2^\alpha + \alpha - 1)N\left(a, b, \frac{d}{m}\right) + 2m^2\alpha(2^\alpha - 1)N\left(\frac{a}{m}, \frac{b}{m}, \frac{d}{m}\right) \right].$$

**Corollary 2.2.2.** Under the assumptions of Theorems 2.1 and 2.2, if  $\alpha_1 = \alpha_2 = \alpha$  and  $m_1 = m_2 = m$ , then

$$f\left(\frac{a+b}{2}, \frac{c+d}{2}\right) \leq \frac{1}{2} \left[ \frac{1}{b-a} \int_a^b f\left(x, \frac{c+d}{2}\right) \, dx + \frac{1}{d-c} \int_c^d f\left(\frac{a+b}{2}, y\right) \, dy \right] \\ \leq \frac{1}{(b-a)(d-c)} \int_c^d \int_a^b f(x, y) \, dx \, dy \\ \leq \frac{1}{2^{\alpha+1}} \left[ \frac{1}{b-a} \int_a^b [f(x, c) + (2^\alpha - 1)f(x, d)] \, dx + \frac{1}{d-c} \int_c^d [f(a, y) + (2^\alpha - 1)f(b, y)] \, dy \right] \\ \leq \frac{1}{2^{2\alpha+1}(\alpha+1)^2} \left[ 2N(a, b, c) + m(2^\alpha + \alpha - 1)N\left(\frac{a}{m}, \frac{b}{m}, c\right) \right. \\ \left. + m(2^\alpha + \alpha - 1)N\left(a, b, \frac{d}{m}\right) + 2m^2\alpha(2^\alpha - 1)N\left(\frac{a}{m}, \frac{b}{m}, \frac{d}{m}\right) \right].$$

## Acknowledgements

This work was partially supported by the NNSF of China under Grant No. 11361038, by the Foundation of the Research Program of Science and Technology at Universities of Inner Mongolia Autonomous Region under Grant No. NJZY14192, and by the Inner Mongolia Autonomous Region Natural Science Foundation Project under Grant No. 2015MS0123 and No. 2014BS0106, China.

## References

- [1] S.-P. Bai and F. Qi, *Some inequalities for  $(s_1, m_1)$ - $(s_2, m_2)$ -convex functions on the co-ordinates*, Glob. J. Math. Anal. **1** (2013), no. 1, 22–28; Available online at <http://dx.doi.org/10.14419/gjma.v1i1.776>.
- [2] L. Chun, *Some new inequalities of Hermite-Hadamard type for  $(\alpha_1, m_1)$ - $(\alpha_2, m_2)$ -convex functions on co-ordinates*, J. Function Spaces **2014** (2014), Article ID 975950, 7 pages; Available online at <http://dx.doi.org/10.1155/2014/975950>.
- [3] S. S. Dragomir, *On Hadamard's inequality for convex functions on the co-ordinates in a rectangle from the plane*, Taiwanese J. Math. **5** (2001), no. 4, 775–788.
- [4] S. S. Dragomir and C. E. M. Pearce, *Selected Topics on Hermite-Hadamard Type Inequalities and Applications*, RGMIA Monographs, Victoria University, 2000; Available online at [http://rgmia.org/monographs/hermite\\_hadamard.html](http://rgmia.org/monographs/hermite_hadamard.html).
- [5] S. S. Dragomir and G. Toader, *Some inequalities for  $m$ -convex functions*, Studia Univ. Babeş-Bolyai Math. **38** (1993), no. 1, 21–28.
- [6] V. G. Miheşan, *A generalization of the convexity*, Seminar on Functional Equations, Approx. Convex, Cluj-Napoca, 1993. (Romania)
- [7] G. Toader, *Some generalizations of the convexity*, Proc. Colloq. Approx. Optim., Univ. Cluj-Napoca, Cluj-Napoca, 1985, 329–338.
- [8] B.-Y. Xi, R.-F. Bai, and F. Qi, *Hermite-Hadamard type inequalities for the  $m$ - and  $(\alpha, m)$ -geometrically convex functions*, Aequationes Math. **84** (2012), no. 3, 261–269; Available online at <http://dx.doi.org/10.1007/s00010-011-0114-x>.
- [9] B.-Y. Xi and F. Qi, *Some integral inequalities of Hermite-Hadamard type for convex functions with applications to means*, J. Funct. Spaces Appl. **2012** (2012), Article ID 980438, 14 pages; Available online at <http://dx.doi.org/10.1155/2012/980438>.